7 6 5 4 2 1
REVISIONS
ECN [REV DESCRIPTION DATE APPROVED
: A NEW RELEASE 5/13/202] PTP
(15801 GROSS WEIGHT
1800 LBS [825 kgl MAX
S . 2 RECOMMENDED MINIMUM CLEARANCES
e 9 FRONT: 42 [1070]
REAR: O
) SIDES: 0
i ‘ TOP: 18 [460]
. HEAT REJECTION
(9401 || - [ il 7,200 Btu/hr [2110 W]
CG
4 - 5
TOP VIEW
- o 1 = NOTES:
— — |. Front access only required for operation and servicing. Top or Bottom access for source inputs
and output is available.
2. The unit employs natural convection cooling. See Sheet 2 for inlet and outlet locations. 7,200
ISOMETRIC VIEW Btu/Hr [2110 W1 heat rejection at 400 A
3. See Sheet 2 for description of components and features.
4. See Sheet 3 for Cable Landing locations.
80 & d
2040 G @ o @ 9. See Sheet 4 for recommended wire connections (Table 1) and available wire bending space.
= = 6. Provisions for lifting hardware are available from exterior top surface on 1/2-13 UNC-2B welded
nuts.
/. See Electrical One-Line diagram for additional details.
| 16507 8. Optional floor stands are available.
9. Optional Top Junction Box is available.
Copyright © 2021, LayerZero Power Systems, Inc.
| UNLESS OTHERWISE SPECIFIED =
. il T ] DIMENSIONS ARE IN INCHES b, 0 LLAYERZERO
= & = ) DIMENSIONS IN [} ARE IN mm @@ POWER SYSTEMS, INC.
27 —~— — :
[700 ] $ 930 TX?(LERC’)*B'\‘CES- OUTLINE, MOUNTING, INSTALLATION DIAGRAM
[ Series 70 eSTS
FRONT VIEW XXX £ 010 @
RIGHT VIEW NGULAR 5 11 ——— 2-Source, 400 A SMR or TMR
FIRST ANGLE PROJ.
DWN PTP DATE 5/13/202| | SE | FSeMTO. PWENO. REV
CHK 5P pATES/32021 | D 94-MS-0111010] A
APVD PTP DATE 5/13/2021 | scaie |10 | 94-MS-01110101+ASHT] |SHEET | of 5

2 | 1




6 5 | 4 3 2 1
REVISIONS
ECN |REV DESCRIPTION DATE APPROVED
ot 18 — = i 2 -
[ 460 ] [60] A NEW RELEASE 5/13/202 PTP
VERTICAL LIFTING HOLE < - %
4 PLACES \Q% ] ] ] ] - é
| || r190]
AIR OUTLET —— e B
i "
\‘ | | |
| |
| 2|
‘ J| f| (5301
| o]
| |
y N
| | v\ POWER CABLE
—m === = — ACCESS AREA
@ @ | | IREMOVABLE PLATE)
g )a i
q po =
1 i OUTPUT ON LED
% s iy
TDe
| GRAPHICAL =
Q USER ]|
& INTERFACE [ — —
(= ~—— CUSTOMER INTERFACE BOARD (CIBI
FOR STATUS CONTACT
° AND CONTROL CONTACTS
> Z 1 >~ WAN PORT
Z 1
__
.
~_ I I
— —
62
[ 1560 ]
S & & N/ "
2265 7
[5752] [170]
4400 - 2
LEVELING FEET/ L1176 ] [ 407
FLOOR STAND ANCHORING LOCATION
4 PLACES : 25
= =]
AR INLET
T T Copyright © 2021, LayerZero Power Systems, Inc.
30,00 , 2| UNLESS OTHERWISE SPECIFIED -
[ 7620 ] N [530 ] DIMENSIONS ARE ININCHES b, 70 LAYERZERO
DIMENSIONS IN [] ARE IN mm -~
| \ DO NOT SCALE DRAWING POWER SYSTEMS, INC.
POWER CABLE TOLERANCES: OUTLINE, MOUNTING, INSTALLATION DIAGRAM
SWIVEL CASTERS —— ‘ ACCESS AREA XX £ .03 .
spPLACES | ik ‘ ; (REMOVABLE PLATE] XX £ 010 @ Series 70 eSTS
8 AR JEL _
1 E ) E ) E .. ANGULAR & 112 2-Source, 400 A, SMR or TMR
* FIRST ANGLE PROJ.
3 J DWN PTP DATE 5/| 3/202| SIZE FSCM NO. DWG NO. REV
80 18 2
L80! [ 460 ] [60] CHK SPJ DATES132021 | D 94-MS-0111010] A
APVD PTP DATE 5/13/2021 | scae I | 94-MS-01110101+ASHT2 |SHEET 20f 5
6 | 5 < 4 3 2 | 1




8 7 6 5 | 3 2 1
REVISIONS
ECN |REV DESCRIPTION DATE APPROVED
- A NEW RELEASE 5/13/2021 PTP
17 SOURCE |
=~ 14301 INPUT PHASES
A A
| SOURCE 2
1834651 —= -
S ET ‘ ET [ 280 ] INPUT PHASES
BETWEEN PHASES o | le
|
I T | —
1 1E l
f g | | i
®
S l CBIO| CBIO2
! SR T Hg
ﬂhﬂj lﬁ L}Jl L-;l L-;l
E= —
| E
/cazm CB202
o |||
. r¥al .
f o ol T il
I /CB30| CB302 (OPTIONAL f
o I
1 N 70 f
[ 1790 ] " [ 1790 ] =
TOP ENTRY L TOP EXIT } 18
INPUT ‘ OUTPUT I [ 450 ]
C) T i GROUND
|
X ——
IRIERING
™ el || e RN
? | o/ > ? e lel
1F 23
14 14
[ 350 ] | = [ 350 ] L 580 ]
BOTTOM ENTRY o - BOTTOM EXIT
INPUT ‘ OUTPUT — ﬁ =
| |
¢ = & & | o & ¢ ‘l
" 130 1 INPUT/OUTPUT GROUND
1707 INPUT/OUTPUT GROUND |
‘ ‘ = [ 270 17T [™~— OUTPUT PHASE C
| |
= 141370 1=~ oUTPUT PHASE B
4
| | 90 ] OUTPUT PHASES |8 450 ] — =~ OUTPUT PUASE A
(> — - - e B : : ld
P ‘ o °
° °| \
| |
| |
| | :E.j o
| |
o r
iR
T T T T o Copyright © 2021, LayerZero Power Systems, Inc.
k! i —r T .
[ 340] I . . . . UNLESS OTHERWISE SPECIFIED -
l H2801 950 b:@ d DIVIENSIONS ARE IN INCHES b, T LAYERZERO
. . b DIMENSIONS IN [] ARE IN mm s~
i ! = = = DO NOT SCALE DRAWING POWER SYSTEMS, INC.
TX?(LER&'\'CES: OUTLINE, MOUNTING, INSTALLATION DIAGRAM
X £ 010 Series 70 eSTS

ANGULAR = .I/2

@

FIRST ANGLE PROJ.

2-Source, 400 A, SMR or TMR

DWN PTP DATE 5/| 3/202| SIZE FSCM NO. DWG NO. REV
CHK 5P pATES/32021 | D 94-MS-0111010] A
APVD PTP DATE 5/13/2021 | scae | | 94-MS-01110101+ASHT3 |SHEET 30f 5

2

| 1




V4 6 5 3 2 1
REVISIONS
ECN |REV DESCRIPTION DATE APPROVED
- A NEW RELEASE 5/13/202| PTP
TABLE |
Compression lugs for Source | & 2 Input Phases and Ground lugs provided by others
CABLE SIZE AND LUGS
RECOMMENDED
DESCRIPTION RECOMMENDED COPPER ALUMINUM LUG TYPE & SIZE
(7%({[2[\‘\,5'(;&'%\",\]) CONNECTION (75 °C WIRE MIN)
(75 °C WIRE MIN)
INPUT & OUTPUT PHASES (2) X 4/0 AWG - 250 MCM | (2) X 300 - 350 MCM NEgK\l I2—_3}—/|2LEI|£|I\/I$EIE{)|A)
TOP OR BOTTOM ENTRY/EXIT PER PHASE PER PHASE TOP ENTRY
BUS LANDING INPUT 93 TOP EXIT 93
[ 240 ] OUTPUT [ 240 ]
INPUT & OUTPUT PHASES (2) X 300 - 500 MCM 2 X 400 - 500 MCM NEMA 2-HOLE (/2" DIA) AVAILABLE WIRE AVAILABLE WIRE
TOP ENTRY/EXIT ONLY OR () X 600 MCM SER PLASE ON 1-3/4" CENTER BEND RADIUS BEND RADIUS
WITH 8" JUNCTION BOX ! PER PHASE BUS LANDING - A . -
GROUND BUS NEMA 2-HOLE (/2" DIA) , | [:D: i T%
(COMBINED SOURCE INPUT & 4 A&f %02(2) AWG #e A&f %03(/8 AWG ON [-3/4" CENTER IE o *
OUTPUT) BUS LANDING S T K.
|6-20 AWG NOT ] 21 121 L2]
CONTROL WRE STRANDED N/A REQUIRED
—] —
|. SEE SHEET 5 FOR JUNCTIONBOX DETAILS
INPUT/OUTPUT '
/ GROUND
=
150 25 e -
[381] [64] f S o / i il
69 oA f
(1751 . | J I
D ] 7 75 n
T 129 I @ d} [190] |
P r L2540 79 AVAILABLE WIRE = = I
e v R BEND RADIUS f
[ 4441 ﬁj < = = > |
L S :i
0 ;
] 2X 1/2-13 UNC
1 CLINCH NUT e
e 0,0,0, ;0 [l =1 (sl
] i 2] o) Lol
175 444 ] SOURCE | & 2
TYP ]\ PHASE INPUT TERMINALS =
I 11X 1/2-13 UNC SCALE 14 N
I CLINCH NUTS 1 1 /
EXAMPLE LUGS : 90 230
lT?S [ 445 ] I T [230] AVAILABLE WIRE
AVAILABLE WIRE BEND RADIUS
I %%LTTOM ENTRY BEND RADIUS BOTTOM EXIT
I OUTPUT
5001271 1
TYP
TO EDGE 150 18
[38]] (951
69
L7517
1O I
GROUND TERMINAL e
SCALE 14 175 |
[ 444 ] Copyright © 2021, LayerZero Power Systems, Inc.
UNLESS OTHERWISE SPECIFIED ,
o 1913 UNC DIMENSIONS ARE IN INCHES LLAYERZERO
DIMENSIONS IN [] ARE IN mm
CLINCH NUT DO NOT SCALE DRAWING POWER SYSTEMS, INC.
PHASEOLSJEPALLJH?N”’\‘ALS TX?(LER&NCES: OUTLINE, MOUNTING, INSTALLATION DIAGRAM
| X £ 010 @ Series 70 eSTS
ANGULAR £ /2 JEL 2-Source, 400 A, SMR or TMR
FIRST ANGLE PROJ.
DWN PTP DATE 5/13/202| | SE | FSeMTO. PWENO. REV
CHK 5P DATES 32001 | D 94-MS-0I11010] A
APVD PTP DATE 5/13/2021 | scae |l | 94-MS-01110101+ASHT4 |SHEET 4 0f 5
7 6 5 3 2 | 1




| 6 5 L 4 2 1
REVISIONS
ECN |REV DESCRIPTION DATE APPROVED
OPTlONAl_ LJUNCTlO[\ BOX - A NEW RELEASE 5/13/202 PTP
v #10 SELF TAPPING SCREWS
/ 18X
\ TOP ACCESS PLATE
PIN 42-06-4036400
-~ 1900 __, 2
[ 4826 ] [50]
B
[180 ] FRONT & REAR PLATE
PIN 42-06-40062411
! 2 SIDE PLATE
! PIN 42-06-40062410
2X
2238
5683 ] #10 FLAT WASHER
LOCK WASHER, & NUT
|0X
NOTES:
- .O= |. TO INSTALL JUNCTION BOX, FIRST REMOVE TOP ACCESS PLATE, P/N 42-06-40364001 FROM THE
= = CABINET. SET ASIDE #10 NUTS, LOCK WASHERS AND FLAT WASHERS.
2. ASSEMBLE FRONT AND REAR PLATES, PIN 42-06-40062411, TO THE CABINET WITH #10 FLAT WASHER,
LOCK WASHER AND NUT.
: 2%20] 3. ASSEMBLE SIDE PLATES, PIN 42-06-40062410, TO THE CABINET WITH #10 FLAT WASHER, LOCK
BB | B9 WASHER AND NUT. ATTACH SIDE PLATES TO THE FRONT AND REAR PLATES WITH #10 SELF-TAPPING
SCREWS.
=
4. ASSEMBLE TOP ACCESS PLATE TO THE JUNCTION BOX ASSEMBLY WITH #10 SELF-TAPPING SCREWS.
L [, Copyright © 2021, LayerZero Power Systems, Inc.
EEE= === UNLESS OTHERWISE SPECIFIED
=EEE|EEEE LAYERZERO
B DONOT SCALE DRAWRG. POWER SYSTEMS, INC.
~ TOLERANCES: OUTLINE, MOUNTING, INSTALLATION DIAGRAM
oo Series 70 eSTS
O GO R 2-Source, 400 A SMR or TMR
ANGULAR £ 1/2 ~>0Uree, ' of
FIRST ANGLE PROJ.
DWN PTP DATE 5/13/202| | SE | FSeMTO. PWENO. REV
CHK 5P pATES3202 | D 94-MS-0111010 A
APVD PTP DATE 5/13/2021 | scae | | 94-MS-01110101+ASHT5 |SHEET 5 of 5
8 7 6 5 = 4 2

| 1




